T/ Mathematics 301 9= H-T8 T / Vedabhushan Fifth Year SET- A
a%rq”( / ‘E?HW’HT-Z / Class 10" / Purv Madhyama - 2
99 9 §&A1 / Que. Paper No.: V/22-23/ Mathematics /
g AU ST / To be filled in ratishthan
gfas™ / To be filled in by Pratishth.
3iehl &1 f3aXT / Details of Marks
e / QI / i / e % EEATER
Subject Max. Marks | Marks obtained Sign. of examiner
T /Mathematics 100

el foheq & 9/ (v)) T s9ET / Mark (v) against the correct option 10x2=20

g.1 Teheel Q1 ¥Rl 1 907 10 &1, d < i WER Fedld & /If the sum of any two digits is

10, then those numbers are mutually called -

[N 0y =
Vinculum number
IES &

Desired number

(%)

(®)

@) oA R

()

parammitra number
T & FiE

None of these

feret Sioi AT | @ Fi9-91 <otk 9g9e &l &/ Which algebraic expression is not

9.2
a polynomial expressioniamong the following -
@) x*+1 @y +2y
@ yY?+z @) A HE T
None of these
9.3 WS R simplify : 3V2 +5V2-3V2
() 5V2 @ 82
@ 11v2 @) T RE
None of these
94 I 9EAS CREH FESA B | /A polynomial having two term is called -
(@) feue @) A
binomial monomial
@ PFog @) T RE
Trinomial None of these
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o e

.

9.5 ¥ foeq & faai® €1 € | / coordinates of the origin point are -

9.6

9.7

9.8

9.9

9.10

(%)

(§)

0, 0)

©0,1)

C)
@)

FHT-AX ST & AT9% 96 1 A &1/

The formula for the general term of an arithmetic progression is -

(%)

(§)

an=a+(n-1)d

a,=a,+d

)
@)

(1,0)

1,1)

a, = a, + ap

a,=n+d

T W el O o foreg A fohaell E0R1 S @ ST SRl & 2

How many tangents can be drawn to a circle fromany one external point ?

(%)

(§)

Rt Gvad: i e 3t TR RIAF ]/

1

3

C)
@

2

5

What is the value of the probability of a certain event occurring.

(%)
(§)

0
3

C)
@

1
T FE

None of these

T GHIHLOl #199% €98 | / The general form of quadratic equation is.

(%)

(¥)

ax +by + ¢

ax’+bx+c=0

C)
@)

ax +by =0

T4 4§ Fis A&

None of these

31 Rl il ITTHA W 3T 1S TS TRUMTAT il 1 2l & |

The total number of results when two coins are tossed are -

@)
@

2

5
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e et 3 9fd SR | Fill in the blanks.
U.11 TgRH I U ST | 2,4, 6, ... ,10

912 dOF BROEIE RATRS = ..o

Area of the sector of acircle=..............
9.13 TRl STERTE Tl Sl SEHRAT F A = ... gl
914 FreromEid STl & @ @ ... 2 |

The numbers of trigonometry ratios are.................
9.15 foormmatags®l/ 123x11=............

Solve by - Vilokanam method. 123 x 11.... ...
HEl Sel Be@M HINT | Match the correct pair.

5x2=10

5x2=10

9.16 GHAT ST & nal 9 @) J(x2 —x)2+ (v,

n™ term of Arithmetic progression

—b +Vb2—-4ac

2a

u.17 3 fowge & a4 &l gl (W)

Distance between two points

9.18 iR g @ an=a+(-1)d

Shreedharacharya Formula

9.19 TR B A TS | @) 0/1FA=

Value of probability is. between 0 and 1

920 tan0 (%)

I / Perpendicular

—y1)?

SIS Base
A 1 GA ddsq, /State true or false.
921 /3 OF R H@T% | / v/3 is an irrational number.

922 feod aieu # ATE ®9ax2 +bx +c=0 & |

The general form of the quadratic equation is ax® + bx + ¢ = 0.

5x1=5
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9.23 17 %l [GheH 950 W 33 T &I § |
33 is obtained by changing the vinculum of 17.

.24 ST HI AW 0§ 1% WA Sl & |
The value of probability lies between 0 to 1.

9.25 I i B 8 Q.. & o 9| 24 AT &6

If the radius of the circle is 8 cm. then the diameter is 24 cm.

T 36 H ST fRaT | Wrrite the answer in one word.

U.26 Uheged 901 § S |

Subtract by using from Eknyunen purvena.

3457
-2189

5x1=5

¥.27 fou I otiehe i AT S X | / Find the:mean of the given numbers.

8,7,1,4,5,3,2,9

9.28 EHX U 1 10 af 92 &9 |

The 10" term of the Arithmetic progression will be.

¥.29 {EEna GHIETT & S9E &9 (ax® + bx + ¢) U IS F a, b T ¢ A A FXL |

Find the values of a, b and c by comparing the general form of the quadratic

equation (ax” + bx + ¢) .

3% +5x -7

=0
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930 faeg (1, 2) e wgem 8 Red B
In which quadrant does the point (1, 2) lie.
3fcl Y 3T & / Very short answer type questions 5x2=10

9.31 T QAT el G GH ST 910 &1 &1 ST Sid ST |

Find the probability of getting an each number when a dice is thrown.

...........................................................................................................................

9.32 TG AisHid G g A TR T F9he FTd Hied |
Find the quotient and remainder by ‘the Paravartya Yojayet Sutra.
1358 + 113

...........................................................................................................................
...........................................................................................................................

9433 EHFR SOML, 3,5, 7., T 12 af 92 T HieT, |

Find the 12™ term, of the Arithmetic progressionof1,3,5,7, ............

5 a§/Year - 2022-23




TTd/ Mathematics EEE| YEH-9 FO%T / Vedabhushan Fifth Year SET- A
It / ‘E?HW’HT-Z / Class 10 / Purv Madhyama - 2

934 & Hi/Solve - 50+ 10 x5+2

9.35 IUHES gid B (el g /)
Find the product (from Urdhvatirayagbhayam Sutra)

57
X 38
&Y 304 W& / Short answer question 5x4=20

9.36 TAI S0 B nAl GG a, = n + 2 8, A THERS & T9H I 76 1 HIT |
The nth term of the arithmetic progression, a, = n + 2. Find the first three

terms of the arithmetic progression.

..............................................................................................................................

9.37 WWWI / Find the median.
18, 19, 20, 14, 16, 11, 8, 9, 4, 2, 10
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9.38 9 tan O =%§ﬁsin9@cos@ﬂv‘[ﬂﬁ§lﬁﬁ I

Iftan@ = %, then find the value of sin 8 and cos 6.

..............................................................................................................................

9,39 df el IS W ! [ahl H &< T Fil Tehdl Sd HIT |

Find the probability of getting two heads when two coins are tossed.

..............................................................................................................................
..............................................................................................................................
..............................................................................................................................

..............................................................................................................................

940 GHE &S W | (SHETEE 9 5N)
Solve the equation. (by Sridharacharya Sutra)
2 +3x+1=0

..............................................................................................................................
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&84 W& /Long answer type questions 10x2=20

NN o0 N &

9.41 ﬁsin@:%%,mrwasmqﬁagm‘fﬁmaﬂﬁm
5

If sin 6 = —,
13

then find the other five ratios of trigonometry.

..............................................................................................................................
..............................................................................................................................

T42 FEACEATH G R FIHA G FHNES T BT |

Find the solution of the simultaneous equation by using the

Urdhvatirgbhayam formula.
3x+4y+5=0
4x +2y +3=0

..............................................................................................................................
..............................................................................................................................

..............................................................................................................................
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